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in the piggy bank and

There was 120 p in the piggy bank. We took out

and

We had 120 p in the purse. We spent

There 1s

There 1s

1s left.
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115 123
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Eaten (g) 170 | 25 75| 34 | 115 180
Renzai)ning 180 | 40 48 140
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Remainder when divided by 5

1

2 3

141, 146, 172,
157,163, 176,
150, 166, 144,
158,211, 160,
155,119, 192
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Number of:
coins | 46 | 75 | 100 | 107 | 140
£10 | notes 6 12 15
£s remaining 3 1 9
Number of:
O 30 | 45 | 50 | 121 | 185
= filled 20 | 30 | 11
() remaining 3 2 4
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a) 19 ~2 = b) 25 +6 = ¢c) 30 +9 =
remainder remainder remainder
Check Check Check

d 27 +5 = e) 53 +~6 = f) 134 ~ 20 =
remainder remainder remainder
Check Check Check
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a) 120+6 +4x2 -2 =26
by 120+ 6 + 4 x (2-2) = 20
¢) [120+ (6+4)] x2-2 = 22
d) (120+6+4)x2-2 = 46

e) 120+ (6+4 X2-2) = 6

f) 120+ (6+4)x 2-2) = 12
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